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What is half of 398?

. 15 15
Is 0.15 equivalent fo — or — ? Show how you know.

Sam catches the bus from Hunters Bar and gets off at Baslow Nether
End. How long was he on the bus for?

Sheffield Interchange 0730
Hunters Bar Rustlings Road 0744
Ecclesall Knowle Lane 0751
Fox House Hathersage Rd 0803
Grindleford Mount Pleasant 0810

Calver Sough 0815
Baslow Nether End 0820
Bakewell Square 0830

Lady Manners School 0835

A flight scheduled to take of f at 17:45, actually took off at 21:17. For
how long was the flight delayed?

Kelly has a bank balance of £20.52. She spends £28.20, giving her a
negative bank balance. What is her new balance?

Mark buys a pack of ranchers which have 12 in each pack, two packs of
opal fruits which have 9 in each, and eats % of his sweets. He shares the

rest between his three friends, how many do they each get?



